Announcements — Lecture VI- Thursday, Sep 24th

First Lab — Saturday, September 26t ... 1-4pm ... ISB 155/160 (A-E)
a) Read the Lab Policy prior to the this lab.

b) Print lab prior to coming to lab -- use the ‘Print Friendly Version’
located on the top left hand side of the page — this is the version
that contains the ‘Data Sheet’ that you will hand in upon
completing the /ab.

c) Review the sample quiz on class web site — a short 6 question
quiz will be administered at the start of the lab — questions taken
from the sample questions.

Exam | — Tuesday, October 6t" - In Class

= jClicker:

FEADY

=, = Choose any letter: A-E

Slide - 49



4.4 How Do We Balance Chemical Equations?
Example 1

Balance the following chemical equation:

n
A" Fe(s)+ 3 CO;(qg)

A _Fez0s(s)+ 2 C(s)

Reactants | _/ | Products | /o
Fe 2 2 4 4 4 Fe '\ 2 2 4 4
O 33 6 6 &6 O 2 2 6 6 6

c v v o3 c Vv Vi3 3 3

2 Fea03(9) + 3Cs) = 4 Fe(s) *+ 3C02(9)
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4.4 How Do We Balance Chemical Equations?
Example 2

Balance the following chemical equation:

_ CoHe(g)+ T 02(q) = 2.C0s(g)+ 2 H:0(l)
Reactants v/ Products /o
C 2.2 2 2 L NENE
H 6 6 G 6 H 2 % 6 6
O 2 % 2 |7 O 3 5 7 7

Cals (9 +@3&@ = 200a(g + 3H0M
A

2 Cale(@ + 70a() = 4 COag) + 610
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4.4 How Do We Balance Chemical Equations?

& a1 d)4
Example 3 gq ; b) 2 e)5
cle c)3
Balance the following chemical equation:
__AgNOs(aq)+ __K:CrO4(aq) = __Ag2CrO4(s)+ __KNO3(aq)

? Whot is 'ﬁ:\«ms S0 acma \
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4.4 How Do We Balance Chemical Equations? .
Example 3 - ) 1/ W
sl b)2 e)5
e'e )3

Balance the following chemical equation:

A _AgNO3(aq)+ __KzCrOq(aq) ?_AggCrO4(s)+ 2 KNOs3(aq)

: Reactants v/ Products V4
Ag 1 2 2 Ag 2 2 2
NO; 1 2 2 NO; v | 2
K X2 K \ )2
CI"Oq _ | | | \ CI"O4 . | | |

A AgNOs(ag) + WaCrOyleg) = Ry, CrOut9 + 2 KNOs(a)

’Po‘\{okmm'c \ns .. N\\em Rmmmg m\'uc\' \'Reu\' as a 5\'»%92 ein\'\].
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4.4 How Do We Balance Chemical Equations?
Example 4

When the following chemical equation is balanced, the coefficient in front of
the oxygen is:

gawl Q) d) 4
__C,H,(9) + 3.0,(g) = % .CO,(g) + » H,0(g) == b)2 e) 5
o'le c)3/
ClAd 2 2 2 CIV 2 2 &
Hi4 4 &y R{2 2 4% u
0[% 2 & 6 0l3 5 6 6
v v
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How Are the Electrons in an Atom Arranged?
Orbital Shapes

Orbitals # | Label
Z
\ “‘*—;&/" SPhQRQ \ \s
i y
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2.6

How Are the Electrons in an Atom Arranged?
Orbital Shapes

Orbitals

c—‘*p\\eae

*288»0

4 Tealed JWQR

Label

3s

34
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2.6 How Are the Electrons in an Atom Arranged?
A Summary

n TotAL Nee Nuwaer
| | s \
p3 L A5
[———=-
Lo Ap 3
3
3 9 e s \
- ! :
Lo 34 5
) \6 I U |
b iy 3
N ) 5
o e 1
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